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I OUT | IN | GR | HDCP | NET Bz
37| 36| 73| 2.4 70.6 |o=vIFIF%(3000M)
B 42| 8] 120 7.0 |mETL—%
48| 46| 94| 22.8 | 71.2 |avTFIF% (2000M)
40 | 46| 86| 14.4 | 71.6 |o=vTFIF%(1,000M)
2| 43| 85| 132 71.8 |mETL—%
46| 42| 88| 156 724
22| 39| 81| 84| 726 mHIL—%
29| 50| 99| 26.4 | 72.6
M| 45| 86| 132 72.8
46| 40| 86| 13.2| 72.8 |mEHTIL—%
20| 45| 85| 120 73.0
s | 40| 84| 108 73.2
13 |TR = 37| 40| 77| 36| 73.4
14 =8 BB 3] 52| 95| 216 73.4
|15 EERPNE 42| 46| 88| 144 73.6 mEHTL—%
16 RE ER 46| 42| 88| 144 73.6
17 #a ®ME s | 44| 88| 144 73.6
18 HE (5= 48| 46| 94| 204 | 73.6
19 &0 B 47 471 94| 204 736
ER)=e == 37| 38| 75| 12| 738 mEIL—%
21 |ME =Yy 45| 42| 87| 132 73.8
20 | £xTF 45| 47 92| 180 740
23 |t B 45| 46| 91| 16.8 | 74.2
24 FER fRAE 46| 49| 95| 204 | 74.6
| 25 EEEEES 52 | 49 | 101 | 26.4 | 746 mETL—%
26 |mE A 52| 42 94| 19.2| 74.8
21 HE 8T 51| 55 106 | 31.2 | 74.8
28 ha HF 47 41| 88| 132 748
20 lum H# M| 47 88| 132 748
BN e = 55 | 44| 99 | 24.0 | 75.0 mETL—%
31 |kk R s 43 87| 120 750
32 =@ & 45| 41| 86| 10.8 | 75.2
3B LT #z 53 | 45 98 | 22.8 | 75.2
34 [thE 58 46| 39| 8| 9.6 754
| 35 [T 51 | 52| 103 | 27.6 | 75.4 mETL—%
36 |hE FEE 37| 42| 79| 36| 754
37 TR mzT s 41| 8| 96 7154
38 |WE AE 46| 51| 97| 21.6 754
39 KA E= 46| 44| 90| 144 756
w0 ETEEES 42| 48 90| 14.4 | 756 mETL—%
N R WY 55 | 53 | 108 | 32.4 | 75.6
8 |#r EE 48| 53| 101 | 252 | 75.8
13 e @ 18| 47 95| 192 75.8
1w =% 45| 48| 93| 168 76.2
5 P 46 | 55| 101 | 240 770 |mpTL—x
46 KA YzC 50 | 50 | 100 | 22.8 | 77.2
4 BR —= 49| 55| 104 | 26.4 | 77.6
8 o mX 51| 52 103 | 252 | 77.8
19 B FI 2| 42 8| 60 7180
s == 43| 46| 89| 10.8 | 78.2 mHIL—%
51 8@ R®X 47 45| 92| 132 788
52 [ FE 49| 54 103 240 79.0
53 |EH fE— 45| 51 96| 16.8 | 79.2
B e =- 58 | 53| 111 | 31.2| 79.8 |muTL—%
55 A BE 57| 58 115 | 28.8 | 86.2
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